Sydney Girls High School

2011

MATHEMATICS

Half Yearly

Year 11

60 minutes + 3 minutes reading time

Topics: Basic Arithmetic and Algebra, Geometry.

Instructions:

Attempt all 4 questions

All necessary working should be shown in every question
Marks may be deducted for careless or badly arranged work .
Write on one side of the paper only

Start each question on a new page

Teacher: ............ T TR

Question 1 (12 marks)

(a) Evaluate J7 correct to 2 significant figures.

(b) Expand and collect the like terms of 53 (éx —4)

(c) Factorise 9x° ~ 16x

(d) Solve §-2x=-7

(e) What is the angle sum of a dodecagon (12 sides)?

(®) Evaluate ‘ 5 ‘ - |-3 l

() Express 0.005] in scientific notation.

3
() If a=281 and b=4.3 evaluate (bzz aSJ correct to 1 decimal place

Marks




Question 3 (12 marks) Marks

Question 2 (12 marks) Marks x—4
(a) Solve: @ =5 =5 1
(a) Simplify: @)  5¢x6x 1 G | 2e-1]=4 )
. (4a°p*y
(ti) od" 2 @ 2x*-3x-3=0 1
(b) Expand and simplify: (i) (x—3)(x+4) . 1
.y 2 .
@ (2a+3b) 1 (b) Express 0.27 as a simple fraction. 2
r . A~ i (/-
oy
(c) Factorise: . )] 4d -9 _ 1 k /@Factorise X2 -+ 5x +5y 2
() 5y +30p+40 2 -
. B; 4
(d)

Copy the above diagram. .
Copy the above diagram.

Find the value of the pronumeral giving full reasons for your answer. .

¢

Given that AB = AF and <C = <E, show that BC = EF

m Express (5+3\/§>2 in the form a+bv2 2




Question 4 (12 marks) Marks

(a) After a 6% increase I have $1431 1
‘What was the original amount?

ationalise the denominator of % 2

&

b a* +ab
¢c) Simpli a X 2
© plify @ +a’b+ab® o b’
(d) Solve simultaneously 2
y=x'
y=3x+4
7/
)%ﬁnd/the exact value(s) of x if —l—+ L 3 3
x-1 x+2 -
-
(D Solve | x ]+2x=2 2
End of Exam
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Questibn 4

12 marks

(a) 106% =$1431 = 100%=

$1350

1 mark

{b] 5 5 x2+J§
2-J3 2-43 243
=10+5v3

2 marks

{c) -5

' rab (g-B) (a* +ab+D?)

aN

a—bl_

=1

a* +a’b +ab?

(a +ab+b2)

T (o)

2 marks

I s ARE ~AAFC.

(d) y=x
y=3x+4

¥ =3x+4 = x'-3x-4=0
(x—4)(x+1)=0
Lx=4,y=16 or x=-1,y=1

2 marks

v

LACKF= LA E B.(& l\./.é_u)
A_Prw.l v

@ WSETRwA e
- : A ARE = AAEC. (/}As)

¢-271717

PrE (cﬂmuj svéd,

/ Wiz

2 2.1

oo . ;L'[ 7771 [

] __,A(B__~~ﬁj:.._ﬁ.__..._“_

IQ/F"/

Cagmman P

(e} 1 1
b —_—t =3
' x—1 x+2
x+2+4x~1=3(x+2)(x-1)
2x+1=3(x*+x-2)
3% +x~-7=0
~1+1412x7

- 2x3

~14+/85
6

3 marks
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{f) | +2x=2
|f|=2-2x
x=2-2x or x=-2+42x
3x=2 or ~x=-2
.'.x:% or x=2

Check solutions

_%:LHS

+2x—2-=2 RHS
3] 3

2. .
Lx= E is a solution

x=2=> LHS =[2|+2x2 = 6= RHS

s x =2 is a solution

LxX= % is the‘only solution

Note :

Both answers must be found and
shown for the 1% mark. Finding

2
X = g only is insufficient to be

awarded the first mark.

The solutions found must be
checked/tested and a concluding
statement shown for the 2™
mark.

2 marks




